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GENERAL INSTRUCTION TO THE EXAMINEES :

1. TRIeeff Fdmem MU e uF WR AMid Afrarda: ford |
Candidate must write first his/her Roll No- on the question paper compulsorily-
2. T geT e Srfard 2 |

All the questions are compulsory-

3. Ud U BT IR &l g IR JRABT H & ford |

Write the answer to each question in the given answer book only-

4. 59 g9=1 9 araRe Wve © 89 9 & SR TP A1 8l fordd |

For questions having more than one part, the answers to those parts are to be written together in
continuity.

5. U3 Pl IR o 9 Yd U= &1 HAiD (a9 ford |

Write down the serial number of the question before- attempting it-

6. U1 UF & Bl g IS WURY H B gbR &1 Ffe /=R / faREmg 8 W
2= w9 & we @I & | A |

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the
question of Hindi version should be treated valid-

7. U39 PATP 16 T 20 ¥ 3R fdded B |

There are internal choices in Question No. 16 to 20 .



Yrs — 3
SECTION- A

1. SgfAmedl g2 (1 9 xvi): 77 U2l & IR BT Fel f[ddhed 999 B IR gRADT H
ferfay |

Choose the correct answer from multiple choice question- (i to xvi) and write in given answers book .

() RETHN & Irext ARy foa defAe uered o 9+ 8l 5— Y
(31) ufde () TRt
(@) ferfer (%) dgeitst

The outer wall of pollen grains is made up of which organic material ?
(A) Pectin (B) Sporopollenin
(C) Lignin (D) Cellulose

(ii) SIEBTUBIT I UIYOT G T BRI AT o— Y
(31) Actell BIfeTHT @) TR S BIRTGT
(w) <ffeT iR () g aifeat

Works to nourish sperms -
(A) Sertoli cell (B) Male germ cell
(C) Ley dig cell (D) Vas deferens

(iii) SiTwfer Ifeq ofc: TRl JRe BRI B— Y
(1) Tt U Si—20 (@) PruR—<1
(%) sroreeTae (<) forrr o

Which is the medicine-free contraceptive method -
(A) LNG-20 (B) Copper-t
(C) Progestasert (D) Lippes loop

(iv) FFe=TfeRad & T foi— |ger™ T & — Y
(a7) sucTEfew (@) vsw



Which of the following is a sex-linked disease ?

(A) Hepatitis (B) Aids
(C) Hemophilia (D) Cholera
(V) DNA D SIFT Ioufb IRER TR §er g1 s 8ld o— v
(31) ETSSIo & (@) BIPIEEURER 94
@) Uege 99 ({) o=@ fafes 9
Both Strands of DNA are connected to each other by the following bond -
(A) Hydrogen bond (B) Phosphodiaster bond
(C) Peptide bond (D) Glycosidic bond
(vi) TESITIAT BT e SSTERYT 82— 1,
(31) #g, 9], ® b UG (d) THIDHal Ud 3MTe]
(@) efl, TS & U (@) Sfefhd o & o
Which of the following is the correct example of homology -
(A) fore limbs of Human, Tiger and whale (B) Sweet Potato and Potato
(C) Wings of birds and bats (D) Flippers of Dolphin and whale.
(vii) FrfaRaa & | doma 9T BT FE TE & %)
(31) =gHIFRT, CISWHIgS, HER (@) =gArra, ufrer, vsd
(A) ve9, &R, uferer (@) AR, feew, Aftrney
Which of the following is the correct group of infectious diseases -
(A) Pneumonia, Typhoid, Cancer, (B) Pneumonia, Dysentery, Aids
(C) Aids, Cancer, Dysentery (D) Malaria, Tetanus, Arthritis
(viii) Fr=IfeRad # & BoD &I URT A1 & — Y

(@) IETATde sifaio SBRT=TT  (§) IS fed iR fShRe=d
(@) TRBHG MRiod fears GERIEINCSEIESISEREEIES
Full form of BOD is -

(A) Biological oxygen Deficiency - demand (B) Bio chemical oxygen Deficiency - demand

(C) Biochemical oxygen Demand - demand (D) Biological oxygen demand



(ix) foel @rer sje § waiee, @ fGaa! gl g ? i

(31) IUTEH (@) uraIfid STHRDT
@) fgdias SuHRhT (]) IMUECH
Who has the highest number in a food chain ?
(A) Producer (B) Primary consumer
(C) Secondary consumer (D) Decomposer
(x) fr=rfeRaa & & anfeas < fd wed - Y
(31) DNA TSI (@) IRgFH oSt fFAqST
(9) DNA TfeiFRe OIELIEIERIGNS]
Which of the following is called molecular scissor -
(A) DNA Ligase (B) Restriction endo nuclease
(C) DNA polymerase (D) Topoisomerase
(xi) Fr=forRaa & A foad & Ti wrnfors are b S & | P2
(31) gudfdeRam swiiie (3) gaefaeRam Eeloi 9
@) § Premé (@) ey SREeh
In which of the Ti Plasmid is obtained from -
(A) Agrobacterium tumifaciens (B) Agrobacterium rhizogenes
(C) E.coli (D) Haemophilus influenzae
(xii) F=forRaa # & FAfe &1 07 &— Y
(81) O &R @) IR
(w) ferm srgama (|) SwI®

(xiii) which of the following is a property of the population -
(A) Birth rate (B) Death rate

(C) Sex ratio (D) All of above



(xiii) MRT ¥ GeT fhad a< WA T Y

@) TR (@) =
(&) = (@) dr=
How many Hot Sport are there in India -
(A) Four (B) Three
(C) Two (D) Five
(xiv)FIferRad % & ST RIS waa <em 8ar & — 2
(31) ST IR &1 ORIHS CIRSIERCICIRENIES
SIS aRENIES (?) S # A BIs &I
Which of the following Pyramids is always upright -?
(A) Pyramid of biomass (B) Pyramid of living numbers
(C) Pyramid of energy (D) None of the above
(xv) IUCN BT AT AT & IR FfeRad § & didl S fag< &1 gat & — V4
SIS (@) @
(%) ezl () Sww wh
According to the IUCN Red List, which of the following species has become extinct -
(A) Dodo (B) quagga
(C) Thylacine (D) all of above
(xvi) U PIRTY URARE fopar & FORTH U Sy BT AT BIAT © QAT AN SfTfe @l |
T BT 7, 7 81 Bl 5— V2
(o) wrETTTT (@) TR
SORSEIRERINGI (2) uRofifdar

What kind of interaction is there in which one species benefits and the other species neither benefits
nor suffers loss -

(A) Commensalism (B) Predation

(C) Mutualism (D) Parasitism



Rep <o T g AR
Fill in the blanks:-

() R— R fawraeiicl RETHUT BT 9N Ye™ &Ral ¢ |

................ Layer Provides nourishment to the developing Pollen grains.

(i) v gRuaa TR IS & AT &7 Ufhar BT PEd B |

The process of formation of a mature male gamete is called .................... .

(i) STARTAT ST HRA ATl BRG............... FHEA T |

The factors causing mutation are called .................. .

(iv) U Uredl Bsdb H Bod MR BT &F HEA © |

The lightly stained areas in a typical Nucleous are called ...........cccuveeenee. .

(vii) VI & 9 T R SATET B AT o BT WA fhar ST R |

....................... is used for large scale Production of ethanol .

(viii) DTS TY DNA VST BT ........... fafer gRT 31erT fohar ST 7 |

DNA fragments are separated by .................. .

(ix) foreft IfreT Fafdes & gof uTey g9 &) & ... FHEAT T |

Capacity to generate a whole plant from any cell/explants is called ..................... .

(x) HETAT B oo Igd A goi9 IRy Sl @1 TRUReIEH B .

In Meghalaya ........cccoeuuuneee. are the last refuges for a large number of rare Plants .

fr=ifoiRaa Tl & SR U@ 98 I1 U Ufth A Qo1 —
Give the answers of the following questions in a word or a line:-
() WRETUT fRe wEd € ?

What is Pollination ?

V2

2

V2

V2

V2

2

V2

V2

2



(i) TR @1 R Ragra fhee faar ? 1

Who gave the chromosomal theory of inheritance?

(i) REF (FHUR) w7 87 1

What is cistron ?

(iv) 3TIeRell fafhRoT BT BIS T IQTEROT QIO | 1
Give any one example of adaptive radiation.
(v) FHGRTAT @1 gReTST forRay | 1
Write the definition of analogy.
(vi) TTSWISS SR @ gfe fhsg okieror # @ oIl § 2 1
Which test is used to confirm typhoid fever ?
(vii) IRMIS dHT AUG frdT STIMT 37t &I IS HRAT 87 1
which amino acid is coded by the initiator codon AUG ?
(viii) T H DI SIS Sirary] ferd g ? 1
Which beneficial bacteria are found in curd ?

YUs— ¢

SECTION-B

TTEHSTNIY U (Feq HHAT — 50 ¥R) —

Short answer type questions (Answer word limit 50 words) :-

4. e aar g7 diel # fhds UBR BT YTy Ry Sl § ° (Vo+1)
What is triple fusion? How many types of endosperm are found in Plants ?

5. TIORTTV] T 57 Ul # $9 b & forg il fafedl warT § o il 2 2 (4tH)
What is self-pollination? What methods are used to Prevent this in Plants ?

6. SCIAUT R § ? IE UfhAT AR < H A ufoefaa g ? (at+1)
What is amniocentesis? Why this process is banned in our country ?

7. HUSA & YU FRIH Bl YT 9 BT TANT BRd gU HASISY | (1%)

Explain the first law of Mendal using- Punnett Square .



8. IeMAell faZelyor =7 8 ? U8 9 UdR 3 IYIRM § °? (1%)
What is pedigree analysis? How is it useful ?

9. AIETH ¥ MY T A & ? SADBI SUAR FI AP © 7 (1%)
What is Sewage ? Why is its treatment necessary ?

10. IR # BT 9 et @ ? 9 |9 o7 Amifed s a9ge | (4t+1)

Which gases are present in biogas? Make a labeled diagram of a biogas Plant-

11. F=faRaa goisd &1 @i Ua o forRau | (Yot Vot a)
(i) wfcreers vommsH (i) ogA ®rgfesol (i) DNA TS

Write any one function of the following enzyme: -

(i) Restriction enzyme (ii) enzyme Chitinase (iii) DNA Ligase

12. PCR 1 QRT -9 &RIT &7 SADI FAT ISUANT 87 (at+1)
What is the full name of PCR ? What is it used for ?

13. JATAIRIG HURT Sid 7T 572 UH Uil & Dls &l o™ falay | (Vo+1)

What is genetically Modified organisms ? Write any two uses of such Plants.
14. T3 AERT 47 87 U W foasy urad & St 87 (1Y)

What are cry Proteins ? Where do we get this Protein from ?

15 S fafderdr & omg o1 FwE 87 3@ afd & T BRI 87 (1%)
What do you understand by biodiversity? What are the reasons for its damage ?
grs—g
SECTION-C
TSR T (SR e AT — 100 IT)
Long answer type questions [Answer word limit 100 words]
16. fHforRaa & & foarRay — (1+1+1)
(@) dia fuvs (@) Irufivss GIEIGK
Write the functions of following -

(A) Corpus luteum (B) Acrosome (C) Fimbriae



37dT / OR

v fhdl BEd 27 AT HIVT | (142)
What is cogenesis? Explain.
17 T &I ®I3 A faRvarRt @ arar By | (1+1+1)
Explain any three characteristics of the Population .
37dT / OR
f=ferRag w fewft #ifd | (1%4+1Y5)

(31) ©EHERTT (@) TRSIddr
Comment on the following-
(A) Camouflage (B) Parasitism
18. f=feIRag w fewoft i | (1%4+1Y%)
(31) JHIeR (@) tRNA
Comment on the following-
(A) Promoter (B)tR N A
37dT / OR
fr=faled @ da sfar qa”y | (14+1+1)
(37) Y=RTGRT DNA Td AW DNA (d) THICIE Iould Td DI Iou9]d
(9) MRNATTtRNA
Explain the difference between the following-

(A) Repetitive DNA and Satellite DNA  (B) Template strand and Coding Strand

(C)mRNAand &tRNA
YUs— q
Section-D
T U9 (SR | A1 — 150 91<8)
Essay type questions (Answer word limit- 150 words)
19 FEfIRIT & iR 9aTd gU T & SET8RT SINY | (2+2) = 4
(31) | Ta Iurford ufoRet (@) afpa vd AfSpa gforen




Explain the difference in the following and give examples of each .

(A) Innate and Acquired immunity (B) Active and Passive immunity

312141 / OR
AR T 8 ? $OR T & HRYN, N U6 STIR qdTv | (1+1+14+1)= 4
What is Metastasis? Explain the causes, diagnosis and treatment of cancer-

20. fHfeIRad R fewoft Sifsg | (2+2)

(31) @TEr Il Ud W ST CISRIEERER LS

Comment on the following-
(A) food chain and food web (B) Production and Decomposition
371dT / OR

qIRRerfad! fiRfAe @ & ? S19 ¥R Ud ol 9@ & fURIAe & 939 | (14+% +1%)

What is ecological Pyramid? Explain the Pyramid of biomass and Pyramid of living number .



